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TESTE N.º 3 – Soluções 

 

Grupo I 

 

1. Opção (C) 

2. Opção (B) 

3. Opção (A) 

4. Opção (B) 

5. Opção (C)

 

 

Grupo II 

 

1.  

1.1. 

1.1.1. Condição impossível em �. 
1.1.2. Condição universal em �. 

1.2. Proposição verdadeira. 

1.3. �2� 
 

2.  

2.2. � = 1; 	� = 2 

2.3. C.S. = �−5,−1� ∪ ��� , +∞� 
 

3. 

3.1. O centro da circunferência tem coordenadas (2, 5) e o raio é √29. 

3.2. �� − 2�� + �� − 5�� ≤ 29		 ∧ 		�� ≥ 7		 ∨ 		� ≤ − #
$ �% 

3.3. � = &
��� +

�'
�( 

 

4. 

4.1. )�5, 4� 
4.2. ��, �� = �6, 0� + -�4, 1�, - ∈ ℝ 

 

 

 

 
 
 
 

 


